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Question Number : 1 Question Id : 3354726231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich is the first island district in India? | 9RT &7 W &0 777 #9 @787

Options:
1. ® Darman | A4
= ® Lonavala | #HETHAT

3. ¥ Majuli | AR

4. % Kutch | #=g

Question Number : 2 Question Id : 3354726232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Madhva Fradesh has how many Lok Sabha constituencies? | Feamdsr # forg= AT T Hat=- 83 57
Options:

1. % 25

2 ¥ 29

3. % 48

4. % 40

Question Number : 3 Question Id : 3354726233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Every vear in India, on February 28, the ‘Mational Science Day’ is celebrated to mark the cormmemoration of a
well known discovery made by an Indian scientist. Who is he? | ¥7d # ned® @y, 25 Bl U, T 9 17 Sariae
o L T

Options:

1. ¥ ]1E.S. Haldane | S 9005w
2. % PC Ray | WHENY

3. % ].C. Bose | S @l TN

4 % C V. Raman | 9309

Question Number : 4 Question Id : 3354726234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which vitarmin contains a metal component? | &4 d TERTE H UF o7 9eF 51T 57

Options:

1. % Vitamin E | [Heiia g

2. % Vitamin & | [demi= T

3. % Vitamin C | TS

4. ¥ Vitamin E12 | e 12

Question Number : 5 Question Id : 3354726235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who m%s:r t%g first wornan president of the United Nations General Assermbly? | §J% T TETEHT &1 UgdT AgelT
areTa .

Options:
1. ¥ Vijaya Lakshrmi Pandit | T agAT oiza
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2. % Sarojini Naidu | FEHT ATIE,
% %® Lata Mangeshkar | @dT AT
4. % [ Jayalalitha | = FOACET

Question Number : 6 Question Id : 3354726236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘Internaticnal Mother Earth Day’ is celebrated on ______ of every year. | ‘SITIERT AT QT foae, madway ______
1 AT AT 31

Options:

1. % 22nd April | 22 aWd
2. % 23rd April | 23 WA
= % 21st April | 21 &WA
4, % 24th April | 24 W&

Question Number : 7 Question Id : 3354726237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The maximum duration of an ordinance issued by the President of India canbe _______ .| TT o RS & AT
BTG T atteepa T arater ________ T
Options:

1. ® 5 weeks | 6 GATR

2 % 1lvyear [ 1ad

% % gmonths | & A

4 ¥ € months and & weeks | & ATF oK € 90G%

Question Number : 8 Question Id : 3354726238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The name of India’s first ingenuously built subrnarine handed over to Indian Navy in september 2017 15

__________ | FEet 2017 § ORE 1 AT # EI0 TE 9RT @ gl gagdt MifT oagedt &1 AW
Options:

1. % INS Arihant | STETAUR fivET

2. ¥ INS Kalvari | STEUATH FTaam

3. % NS Sindhurakshak | SMEUAUS Fela®
4. ® N5 Vikramadithva | STE0Ud e

Question Number : 9 Question Id : 3354726239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following Acts led to Jallianwala Bagh massacre? | FE@ET # 4 foog arfai=m & agad e
AT SREE T T 1T 417

Options:

1. % Indian Council Act 1909 | ARG Tives, STE-=A 1909

2. % Government of India Act 1919 | 9RT w@Ew A7 1919
= ® Indian Arms Act 1878 | YR 97 affdiam 1878

4. ¥ Rowlatt Act 1919 | feie afa==am 1919

Question Number : 10 Question Id : 3354726240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
which of the following is NOT a public sector Bank? | WaeEs § & $19 Aea-0 87 &1 o0 951 57

Options:

1. % Canara Bank | 4T d®

2. % HDFC Eank | U228 TEAT s

% % Punjab & Sind Bank | 7" g & d@
4 % UCO Bank | @1 s®

Question Number : 11 Question Id : 3354726241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Jallikkattu’, which was in the news for sorme time, isa __________ AR, A e o Toly HHER H T,

Options:

1. % dance form of Karnataka | @@ &1 Jcg &7

2. % boat race festival of Kerala | #%d &7 919 218 oA

= % yillage carnival of Andhra Pradesh | STl 08T &7 T FHd

4 ¥ traditional bull chasing sport of Tamil Madu | TR FT TRETE o6 Job Ui G

Question Number : 12 Question Id : 3354726242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who becarme the Chief Minister of Madhya Pradesh after Urmna Bharathi? | 0T R T & 915 ®i- Ted 0ed & gag Tl
GCF

Options:

1. ® Digvijay Singh | T &5
2. ¥ Babulal Gaur | sTgard 1K

Z. % Kailash Joshi | demar At

4 % Shivraj Singh Chouhan | &R g @igE

Question Number : 13 Question Id : 3354726243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In which district are the Bhirmbetka caves located? | idzaT b e Mot # 8 27

Options:

1. ¥ Raisen | T
2. % Sanchi | &=

= % Ujjain | 3=

4, ¥ Gumlior | TR

Question Number : 14 Question Id : 3354726244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Favali Jal Parisar is located at

Options:
1. ¥ Jabalpur | SEwqC
2. % Burhanpur | fREFA
Z. % EBhopal | 90T
4 ¥ Seoni | TEAT
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Question Number : 15 Question Id : 3354726245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the author of Malgudi Days? | ATENET 27 & oRa® B 27

Options:

1. # RK Laxman | 3T & #A§H0T

2. ¥ RK Narayan | & & A0

3. % RK Kapoor | 8T % 0%

4 % EBalaji Subrarmaniurm | STAmT geguad

Question Number : 16 Question Id : 3354726246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The present district Katni was earlier a part of which one of the following districts? | TA A T W T
Torert 1 & TperaT uge & U TegwT Ay

Options:
1. ® Satna | qa4r

2. ¥ Jabalpur | S&EAYY
3. ® Rewa | T
4 # Umaria | T

Question Number : 17 Question Id : 3354726247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The famous Dhanushdhari Mandir of Chhatarpur is situated in
I

Options:
1. ¢ alipura | e

2 % Dhubela | se@m
z ® Mau | W3
4, % MNaugaon | "

Question Number : 18 Question Id : 3354726248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which river flows in Agar Malwa? | T ATar § S d1 95 ag5d 1 57

Options:

1. % Narmada | 98T

2. % Ganga | T

3. % Charnbal | Tred

4 Chhoti Kali Sindh | @127 ST fer

Question Number : 19 Question Id : 3354726249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which one of the following fields is Kalidas Award not presented by Government of Madhya Pradesh? |

Tt g3t # & Forad mea USa S0 ERT #liced [ERR J51 16T ATar?
Options:
1. % Classical music | STEi= @i
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2. % Theatre | TITHT
3. % Visual Art | gl
4. & Poetry | ®iET

Question Number : 20 Question Id : 3354726250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The first Indian worman to win an Olympic medalis ________ | ST U S ATel Ugeil A 1 AT B

Options:

1. # Saina Nehwal | |EAT J5aTe

2. % Mary Kom | 80T &H

3. % pv. Sindhu [ O 9% ey

4 ¥ Karnam Malleswari | @010 Aesael

General Maths and General Aptitude

Section Id : 335472174

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472174
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354726251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A fraction F becomes 12 when the numerator is increased by 1 and becormes (7 when its denominator is
increased by 3. Then Fis: | (@ Mg F F A0 AT 1 g ST AT T A5 1/2 5T AT S SR A g0 § 3 & Thg Fr A av
7 ETAETR TTF 5

Options:

1. ¥ 1532

2 % 1021

3% 10/249

4 ® 9[32

Question Number : 22 Question Id : 3354726252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& shoplkeeper has marked the selling price as 30% above the cost price. Due to sudden increase in demand he
increases it further by 40% on the marked selling price. His new profit ;ercenta eis____. | UF §HMHGN + fITa

el & 30% afTerer dwe ge alfd e 21 o1 § emi=ew i o #roT af sifed Tl 1 40% TF 95T ST 51 a1 FHFT A=
AT Wi EITm
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Options:

1. % 70%

Zow 40%

S W 5oy

4. % None of the above | 598 T F1E 751

Question Number : 23 Question Id : 3354726253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

0% in the lowest terms is: J/ ToeaT M9 A edH gar H %I

. 4
The fraction 1
11655 11655 ™

Options:

1. % 27113
2 ¥ 13(37
2% 917259
4 % 117233

Question Number : 24 Question Id : 3354726254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If al+b?=45, a+b=9, then a-b="/ TTE al+b?=45, a+b=9. T a-b =7

Options:
1.¥3
2. % 4
3. %5
4 % 2

Question Number : 25 Question Id : 3354726255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | #Ha FF #4

B4, 45, 14, 55, 24
Options:
1. % 327
2. % 38
2% 39
4. ¥ 41

Question Number : 26 Question Id : 3354726256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Two friends, Alak and Aman, live 320 miles away from each other. Alak starts her journey in train at 9 a.m
and travels towards Aman’'s place at 70 miles per hour. After two hours, Aman being unaware of this starts
his journey from his place on train and travels towards Alak's place at 20 miles per hour. At what time will the
two rneet? | 31 T8, Siofd e ST, T Ga¢ § 320 A6 o T 51 316 W1d: 9 5 1 ol H ST 271 8 B § S0 30 o
T T T 70 Hid Wid O & IFa™ & ATIT AT 51 2 el & alg, T 587 a1 & ST o ToF o Sama T & aF 2 ol ofi =
TET 5, 9% Uid O 20 Hie & TFF T & T s | 2] Torey TR THeT?
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Options:

1.¥ 1pm

2. % 1:20prm.
2% Zpm

4 % 220 pua

Question Number : 27 Question Id : 3354726257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The area of a rhombus is 294 sg.cm and one dia%onal 15 thrice the length of the other diagonal. The side of the

rhombu%is___. | T FEEY @ 294 =1 HHT g T Uep eI e Teernt S Fves o o 14 A1 51 QeI ol =T

Options:

f—

1 % 10+/1

2% 11
3 o ?‘v'l'ﬁ

4 ® B‘U'I'E

Question Number : 28 Question Id : 3354726258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a prime number? | FaeET 8 @ 19 0w an=g =21 87

Options:

1. % 121
2. % 78
2% 171
4 ¥ 181

Question Number : 29 Question Id : 3354726259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Arun and EBalaji can complete a task in 10 and 15 days, respectively. They work together for 4 days and leave.
Chetan completes the remaining work in 2 days. In how many days can Chetan complete the job individually?
| STE0T O ATETe ek 14 @1 A 10 Ua 15 3t # quf a7 |wd 81 o 4 23t g arer o @7 g § O gl 39 71 99 o e
2 Tt o quf #aT 81 s & & 2iad A oAt § w @1 el @ ey

Options:
1. % 12

2. % 10
2% B
4 ¥ 6

Question Number : 30 Question Id : 3354726260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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A club has 32 members. Every year it 15 planned to increase the membershig by S0% At the end of 3 years,
how many mermbers will be there? | U@ Foe & 32 Ha67 51 € a4 S0 Goeadl H S0% BT Tk e @l AT 51 S Tul o
31T § g geea g

Options:
1. % 48
2. % 30
2 ¥ 108
4 % 98

Question Number : 31 Question Id : 3354726261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A man travels 3/ 4th of the distance of his journey by bus, 1/6th by rickshaw and 4k on foot. How many km
does he travel in the entire journey? | UF S0 0T TETHT 3/ 4 AN a6 &, 176 917 o & ug 4 oAt i ame a9
AT B aﬁgﬁwﬁaﬂﬁﬁrﬁﬁﬁ%fﬁgﬁﬂfﬁ?

Options:

1. % 40 km | 40 Tt
2. % 46 km | 46 TEAT
3 ¥ 48 km | 45 Tt
4. % 50km [ 50 fEAT

Question Number : 32 Question Id : 3354726262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The respective ratio of the current ages of Pulkit and his wife Shikha is 6.5 After 5 vears, this ratio will be 7:6.
If at the time of marriage, the ratio was 5:4, then how many years ago were they married? | Jiewd T I9& 04T
THraT ST A AT T T SUTT P 6 5 81 S a9 W, 95 SO 7 6 B ST i g & 90T 9 S S 4 9, 1
FAART TelelTy T~ &1 el g 4177

Options:

1. Syears | S af
2. % 10vyears | 1099
T % lvyear [ 1ad

4 ® 2years | 2 ay

Question Number : 33 Question Id : 3354726263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The bass of a triangle is 5 units more than h its height. Which of the following expression represents its arsa? |
TR TT ST T 396! e h & 5 T S1Tie 21 FoieiEa § € #1997 U8 399 890 &1 e #edT 27

Options:

| % ¥0b-3h

2. % hih+5)
= % hh-5)

4 o AEHSh

Question Number : 34 Question Id : 3354726264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

15th Decl7 Shift 1



15th Dec17 Shift 1

Ifajb = 45, then 2a/3b =7 | Aiga/b = 4/5 537 2ai3b =7
Options:

1. % g8/20

o ¥ 815

3. % 20/8

4. ® 158

Question Number : 35 Question Id : 3354726265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
V20 4+ +/5=7
Options:

1 = M’E

2. % 10

V5

Lh

SRR

Question Number : 36 Question Id : 3354726266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which one of the following numbers is divisible by 117 | FeEs d g @ a9 = 11 9 Tvyea 57

Options:

1. % 4823718
2. % 3423718
Z% 3432718
4. ¥ 4832718

Question Number : 37 Question Id : 3354726267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Howr roany numbers Detweeery 1000 and 2000 hawve all three numbers 15, 20, and 25 as divisors? | 1000 3497

2000 o &= H Ut opa=T Twegng §, e w919 |5ea 15, 20, 25 87
Options:
1. % ¢
2 ® g
3 % 4
4 ¥ 3

Question Number : 38 Question Id : 3354726268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A die is thrown once. Find the probability that it is even. | U@ U6 & TF J1¢ BT A1GT 21 W GEIT 99 SE47 5, TS
TTHeRaT AT )

Options:
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Question Number : 39 Question Id : 3354726269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A car is travelling at a speed of S4km/h. Find its speed in m/sec. | UF T S TRt e &1 i & 7137 ¢ 51 8
Hiee) dwrs | It T JT w

Options:

1. % 15 mjsec | 15 Hiex/dwrs
2. % 18m/sec | 18 At dars
3. % 12mjsec | 12 Hier dgns
4. % 20mj|sec | 20 AT/ 9F0E

Question Number : 40 Question Id : 3354726270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the CP of an itern is Rs. 950 and the profit is 30%, then find the SP. | At FrT a6 1 %9 Tod 950 T 7997 @19
20% §, a1 [T grd AT F)

Options:

1. % Rs. 1235 | 1235 =g
2. % Rs. 675 | 675 w0
3. % Rs 850 ) 850 w0
4. % Rs. 1000 | 1000 Z2r

General Hindi

Section Id : 335472175

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472175
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT ST STFUUTIT Sg1 8, S6 ST H AT -

Options:
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1.v g
> R
3. R8T
4. ®

Question Number : 42 Question Id : 3354726272 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST & T

Options:
1. % e ot famT

2. ® Fae seg T
= % e g e
4 & FudmeEdt

Question Number : 43 Question Id : 3354726273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
g ST % -
Options:
1. %10
2. %y
3% ar
4 & 3

Question Number : 44 Question Id : 3354726274 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AYE T R -
Options:

1. % BT

2. ¥ oy

3. % fag

4. % ZAT

Question Number : 45 Question Id : 3354726275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
gAY ATAT 2 AT AT -
Options:

I

2. % g

3.9

4 %7

Question Number : 46 Question Id : 3354726276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T TR e d g A g
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Options:

1. % meq

o ® HEe

3. ¥ giar

4. % ga@

Question Number : 47 Question Id : 3354726277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T I R B % T U Seg g H A wlT AT Ry
Options:

1. % gomg

2  Toig

Z. % Ty

4. ¥ AT

Question Number : 48 Question Id : 3354726278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A FT A e M H g a e arge
Options:

1. % gaAT+Tme

2. % #@I+TH

3. % g+

4. ¥ gE+1H

Question Number : 49 Question Id : 3354726279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TAT T AN Ieg W H & B d1 57

Options:
1. v giE
2 % g
z % Ty
4 ® feg

Question Number : 50 Question Id : 3354726280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“Sfir I & T g T A ¥ A Y
Options:

1. ¢ A

2. % am

3. % s

4. % srAH

Question Number : 51 Question Id : 3354726281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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“TAT e | 99 # & T a7 0T 27
Options:

1. ¥ Jocqey 9Hg

2 % e

3. ® U 9o

4. ¥ gy gu

Question Number : 52 Question Id : 3354726282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“TIFY O Gl 54T WeTae o af g A & | g7

Options:
1. & @mET gAT

2. % HeREd g

2 ® SagE T
4. % FHHEA AT

Question Number : 53 Question Id : 3354726283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘AT @ g T M H F H AT

Options:

1. % arfrer
o ® amfiia
3. ¥ ShftaT
4 & Frrredt

Question Number : 54 Question Id : 3354726284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ECICRETER AL R Ar -
Options:
1. %3
2 2
3. %5
4 % g

Question Number : 55 Question Id : 3354726285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

- il
Fo st § a8 e g

Options:

1. & auTe aIF®R
o % arfdeie eeeT
3. % JUAT STAET

4. % FOUMT AT
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Question Number : 56 Question Id : 3354726286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
TUH AT feg gy - T
Options:
1. % AfF®w
2 ® e
3. ® ameATicHE
4 \licd®

Question Number : 57 Question Id : 3354726287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

"M Seg oF Hal 14l - Tdoera @1 a915m
Options:

1. % = + a9

2 % o4 /g

3.9 S+ AT

4 % T+ AT

Question Number : 58 Question Id : 3354726288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fiew i Uikt B & ded T aTel Uik @ g -
Options:

1. % U@ 3 TR A, T ST g
Tome SE iRl sl &, T T @

2. % e T g |l 7 9y 5 SAnm
Tt T & g3t ag ot Tl s

z. ¥ T ST TS - FC F @ el
T U oI T 319 313 @ )

4, % grit St oA g, A2 St g

T | FUST, G |l e

Question Number : 59 Question Id : 3354726289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“STEAT AT 51 @l , 3T 1 EaTe”
T Uihal § W O 1 A9 ad15 7
Options:

1. % Tar

2 ¥ Ieae

3 % e

4 ' TETET

Question Number : 60 Question Id : 3354726290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

R aeat # 9 Tt et AR 27
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Options:
1. % gliﬂ
2 ¥ e
3. ® I=ad
4 * ﬂ@,—{
Fural Economy and Panchavati Eaj
Section Id : 335472176
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 335472176
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

As per the Expert Group (Rangarajan panel), the estimated percentage of population @ll-india) below the
powverty line in 2011-12 was ______ | Ters A (TR 8 @ gaTied, 2011-12 # T @ | S e
AT Wi a (ST EF-TRa) ______ m

Options:

1. % 304

2. ¥ 295

3. ® 264

4 % 248

Question Number : 62 Question Id : 3354726292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& certificate of utilization of funds at Gram Panchayat level is to be issued by
JUATTIET T I o T AT ToraT ATaT

Options:

1. ® State Government | T3 GTEN
2. % Zilla Panchavat | e m=maT

= ¢ Janpad Fanchayat | F=0g 0=
4. % Gram Sabha | TTH 4T

Question Number : 63 Question Id : 3354726293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Who armong the following CANNOT become a mermber of a Zilla Panchayat? | THaeiEa & & w19 W tamad @7
Taed A5l o GFar a7
Options:
1. % i Mernber of Parliarment | H6g &1 d95qd
2 % A Member of Legislative Assernbly | Terermd &7 #7 A6
Z. ¥ Chairperson of a Gram Panchayat | TTH =TT &7 sreay

4. % Chairperson of a Janpad Panchayat | SH0g G=Tad HT STeTy

Question Number : 64 Question Id : 3354726294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is normally the primary objective of a Self Help Group (SHG)? | 90T & # Fad-agrdT 98 (TaU==) %7
e 0T TATR?

Options:

1. ¥ To provide micro-finance to groups | AHE! ® ATGH-BIg-d (GEHAT Tou T TEraTn FEMH #r
2. % Toimprove technology of farming | @dT & Tais § G w7

Z. % To provide high quality seeds | 3g] TR T s JUAE FET

4. % To provide education needs | SR 3T TS F1

Question Number : 65 Question Id : 3354726295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
At what rate of interest did Madhya Pradesh government disburse short term loans through state-cwmed

cooperative banks to farmers in 20147 | A7 W2 amaA = 2014 H et & 7 & Talibcd aTel TE@l el & Areay
3l FOT BT =T 1o oF O ToaT 477

Options:
1.9 0%
= w2y
3 % a4y
4. % 5%

Question Number : 66 Question Id : 3354726296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Swarna Javanthi Gram Swarczgar Yojana is envisaged to be implemented by setting up? | @0 =2d T 70
TR ST | g & o W’ﬁ__?l'cf - ST e & e R

Options:

1. % Large industries | ¥ J&MT

2 % 5mall Scale industries | T A 0 I20T
3. ¥ Micro enterprises | i @ F2

4. % IT companies | SMECr H0==T

Question Number : 67 Question Id : 3354726297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Under which Act of the Parliament did Mahatma Gandhi National Fural Employment Guarantee Scherme come

into being? | @A & T Srferfaeg & S/@Tia AETcHT T Seme S UFATaHe e T TehTaTH (AETAT et T8 TR TR
TRET AT afeded # 87

Options:
1. ® Mahatma Gandhi Rural Workers Employment Act 2007 | BETTAT TTET THTT # TR TATR SEi-<d 2007
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2. % Mahatma Gandhi Agricultural Labourers Act 2006 | HETAT T FT A7 af€i—am 2006

=, ¥ Mahatma Gandhi National Rural Employment Guarantes Act 2005 | AZTEAT Tt TP THIT TR TRE T
ST 2005

4. % Mahatma Gandhi Road Construction Laborers Act 2004 | HgTeT Tt G2 AT fege sTeiad 2004

Question Number : 68 Question Id : 3354726298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MNational Institute of Rural Developrment & Panchayati Ra _]j?ris situated at ______ .| I ST AT ¥ SaATHe
TS U= T ¥ (278 17 TITHIT TaerTey U termad T et |eer) ______ e
Options:

1. ® shimla | e

2. ¥ Hyderabad | $3iEg
2. % Patnia | ugAT

4. % New Delhi | 72 TSt

Question Number : 69 Question Id : 3354726299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Kashi Prasad Pandey Committee was constituted in Madhya Pradesh in _______ f mE wEs o wat v Ui |
CIRIGT] H Fa am

Options:

1.9 1957
Z % 1962
3. % 1965

4. % 1990

Question Number : 70 Question Id : 3354726300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Madhya Pradesh Sinchai Prabandhan Me Krishlkon Ki Bhagidari Adhiniyarm (Act) was enacted in ______ |
a7y T TEaTs Wererd | graen! dl Anig e Srreriaay (o) ______ ﬁaﬁ%‘aﬁﬁﬁmwm

Options:

1. % 1987
2 ¥ 1999
3. % 2003

4. % 2014

Question Number : 71 Question Id : 3354726301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The Government of India decided to introduce a Crop Insurance Bill and a Mode] Scherme of Crop Insurance ir

______ | ART IO A B T e o e ST 6 U e T @ H e @ &7 vt Eem

Options:

1. % 1947
z ¥ 1965
3. % 1991

4. % 2014
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Question Number : 72 Question Id : 3354726302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to the MNational Cormmission on Agriculture, India should hawve a minirmuam of :

COvEr to raintain ecological and environmmental balance. | Y & TEET ST & STJAR, TGS o 0iex dga-
AT T o T80 T @ | @A T HEAT FEAT

Options:

1. % 20%
2. % 48%
3. ¥ 33%
4 % LEX

Question Number : 73 Question Id : 3354726303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Wwhat is the term of Panchayati Faj institutions? | U=ITadT T 9E=1 &1 a7aier fra-r 57
Options:

1. % Zwears | 3 v
4 7
S oy

L

2. % 4 years

!
!
3.9 Syears |
!

4. % G years

Question Number : 74 Question Id : 3354726304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who will maintain the records at the Gram Fanchavat level? | TTHT (=TT €€ 00 TG &1 (G-1G1d § 19 H?
Options:

1. % Gram panchavat secretary | TTH T=ad T

2. % Sarpanch | 0

3. % Panch | v

4. % Upsarpanch | 39 70

Question Number : 75 Question Id : 3354726305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Where in Madhva Pradesh is the production unit of National Fertilizers Ltd situated? | Aeg 0ga # Jema
Options:

1. % Singrauli | T

2 % Morena | geAT

2 ¥ Vijaipur | feeRT

4. % IMagda [ ATTET

Question Number : 76 Question Id : 3354726306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For which of the following is assistance NOT awvailable to landless agricultural workers under Mukhya Mantri

Mazdoor Surakhsha Yojana in MP? | Hza uear # FEETET 8 § @19 f Ggrad T gea=! Fge Gea di==T & s/ g
T AT & o0 S0 "5 1 57

Options:
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1. % Scholarship for eligible children of workers | 8@ & 073 ==ff & W0 s13gm
2. % Marriage expenses | Tdarg =oa

% % Medical expenses | Rifgoar =

4. ¥ Expenses for buying TV & Fridge etc. | Tt & T anfe @ole- & o ==t

Question Number : 77 Question Id : 3354726307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following was envisaged as a single window knowledge resource centre to provide information on

MGNREGA? | AT & el H A®NT & o To] 510 & T et Teiat Aiei feete de e o U T T
Options:

1. ¥ Department of Rural Development | TTHIT @ &

2. % Panchayat Office | =g AT

= #® District Collector's Office | Fwmeta &7 wraiaa

4.+ Bharat Nirman Seva Kendras | 9RT HHIT #aT g

Question Number : 78 Question Id : 3354726308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwho publishes ‘Indian Journal of Agriculture Sciences'? | 'S0 T H1F U ide=t HIEE B H - WEHIST Fear a7

Options:

1. # Indian Council of Agriculture Research | SiET 13 TF Uide=r e
2. % University of Agriculture Sciences | g afee! siTh Tt AEad

% % agriculture Developrment Corporation | U= SaaTHe FeaT

4. % Ministry of Agriculture | WiEEET 3F Tiem=w

Question Number : 79 Question Id : 3354726309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT a mandatory function of a Gram Panchayat? | eATeiET # & 19 &1 U = &
EEE I

Options:

1. ® Sanitation | Herwdr

2. % Drinking water | 0T 9

3. ¥ Small scale industries | &g AT

4. % Maintenance of village roads | WA TSF! 7 &G

Question Number : 80 Question Id : 3354726310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is the suggested timeline to select the Adarsh Gram, once the Saansad Adarsh Gram Yojana is launched
in the constituency? | AT &7 § e, 88 UH AT IF T & a1, H1gd TTH F1 oA & o] Giod w1 STare g 27
Options:

1. ¥ Imonths | 3 A5

2. % g months | 6 AR
= ¢ 1month | 1 A%
4. % 12 months | 12 7%
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Cormputer Knowledge

Section Id : 335472177

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472177
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SMTP stands for: | SMTF ®Ta004 &

Options:

1. ® sirmple Message Transfer Process | TEqUe #69 TIEH W6
2 % simple Message Together Protocol | Tmue §6 3Tt Weiwa
3. % Simple Mail Transfer Process | TR0 B& g6 AT

4. ¥ Simple Mail Transfer Protocol | e §d TEwe Hig e

Question Number : 82 Question Id : 3354726312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a malware? | 7999 # & 19 @ #dc<r T51 57

Options:

1. ® Worms | 918
2. % Virus | @150
z. ¥ Cookies |
4. % Trojans | 2

Question Number : 83 Question Id : 3354726313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of a Terabyte is: | TTAEC FTAME

Options:

1. ¥ 1024 Petabytes | 1024 IeEEC

2. % 1024 Megabytes | 1024 AR
3. ¥ 1024 Gigabyte | 1024 =

4. % 1024 Kilobytes | 1024 fFataEs

Question Number : 84 Question Id : 3354726314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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In M5 Excel, the result value either "TRUE’ or ‘FALSE’ is available in which one of the following functions? |
O e |, TR0 g “aqq2 57 a1 “arma, g # & e e | Sused AT 27
Options:
1. ¥ Logical | @l
2. ® Arithmetic | spiiR®

3. % Algorithen | TelTTGEH
4. % Logarithm | @y

L

Question Number : 85 Question Id : 3354726315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does the symbol “0° indicate in M5 Excel? | THIE Torda H 0d 1“0 e g #edT 57

Options:
1. # Greater than or equal to [ & ST AT SHF X Tew
2. # Less than or equal to | & &H 97T al&]

2. ¥ Autosum [ FET T

4 #® Date | Teamw

Question Number : 86 Question Id : 3354726316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is an Internet browser? | AR ET # & T TF sei-¢ G137 87

Options:
1. % windows explorer | T2 THaqaRT

2. ® v 200gle.cOm | v Z00gle com

3. ¥ Internet Explorer | S8 THaTHART

4 % Task bar | THF a0

Question Number : 87 Question Id : 3354726317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Abbreviation www stands for: | FEUT www BT I7009 ¢

Options:

1. % windows Web Wan | e da a9

2. ¥ World Wide Web | g d12s o9

3. % Wworld Windows Web | Teiz Hei aa

4. % Wworld Wide Wave | Trg 9152 od

Question Number : 88 Question Id : 3354726318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& program that infects other programs by modifying thern is known as: | &g WUTH AT 372 WHTHT # ST wd
HHHT T 2dT 5, FeAMT 5

Options:
1. # Search Engine [ @ g9

= ® Antivirus | TeEEH
=% Viras | JEdg

4. % Cyber crime | AIgaY #EH
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Question Number : 89 Question Id : 3354726319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which cormmand 15 used to hold row and colurmm titles in place so that they do not scroll when you scroll a
worksheet in MS Excel 20077 | UATH TFdd 2007 § T T 739 & ! w1 37 g ot T8 a & T, avfer o
T T BT TR FLA T HR T :r‘s“f ﬁrﬂmmmaﬂ%%‘?

Options:
1. % arrange all cormmand on the view menu | 93 B 1% SN affd

2 ¢ freeze panes command on the view menu | g9 B 07 H 89E w7
3. % alignment cormrmand on the horme menu | il 3 W TAEIHe ®HiS
4 % filter cormrmand on the horme menu | 510 B T hdet Fd1E

Question Number : 90 Question Id : 3354726320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many different positions can ;vr::uu Set for drop cap in MS Word 2007 (Exclude “Tone position”)? | THIT a2
2007 H, m;‘ﬁraﬂr%ﬁ%ﬂ aa%% AT U W FIE w7

Options:
1.%1
2 W2
3% 4
4 % g

Question Number : 91 Question Id : 3354726321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
& cormpuater in a network cannot be accessed outside of the local network unless Ziver permission 15 called

______ | et B T dihe Head | gt a9 do Uhed ARl (T AT Qe 5, Stel do 1 ______ @ AL F &7 S
Options:
1. ¥ Intranet | T2

2 % Internet | 6T
3. % Middleware | THigad=Tw
4. % Modern | HI=H

Question Number : 92 Question Id : 3354726322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The minirmum nurnber of rows and columns in a table in M5-Word application is: | TAUE 92 Ty H gieaf
T A H ATE FEAT R B

Options:

1.9 1=1

2. % 2x1
3% 1x2
4. ® %2

Question Number : 93 Question Id : 3354726323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the use of Print Preview in MS Word? | TAUT a2 | e ez @7 @1 I0ai 87
Options:
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1. % Save the docurnent | Sig<ys ® TET FAT

2 % Delete the document | g &1 fEdte #eT

3. % Copy the docurment | SFgHT ®T HTHT F2AT

4 View how the docurnent will appear when printed | =g &@&1 I e # o g T fggm

Question Number : 94 Question Id : 3354726324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is the full form of Wi-Fi. | Wi-Fiarqie&r _______ 2l

Options:

1. % Wwireless forus | TTHeAT HiET

2. ¥ Wireless fidelity | IRHT p2Terer
3. % Wwired fidelity | a2 ThEEeT

4. % wired focus | TS ®iET

Question Number : 95 Question Id : 3354726325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which of the following memory is volatile? | FRATHTET # § B9 9 BT giad 19 2id T g7

Options:

1. ¥ RAM
2. % ROM
3. % PROM

4 # EPROM

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 96 Question Id : 3354726326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T?ﬁ%}? which shows your current status in the document is called _____ .| TE A AT STFgHT H ST a9 AT qiee
a a

Options:

1. ¢ Status Bar | Fied @k

2. % Standard Bar | #i22 a1
2. ® Format Bar | Bide d%

4 % Title Bar | TTSieeT &

Question Number : 97 Question Id : 3354726327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& user can directly access a website through
FHAT

Options:
1. % URL

2. % Search Engine [ T 5
= ® WEL
4. % Fire wall | GTa¢ g1

_______ .| TS JUSATTRAT _____ o WIeIH  daaige @i Hre Uy @
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Question Number : 98 Question Id : 3354726328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Hard copy is a term used to describe: | “512 FH g P SUAN 56 TATET Fe & o T AT 8
Options:

1. # Storing information on the hard disk | 72 28% W 9291 §oX #e

2 ¢ Printed output | e am3eqe

% % Writing on a hard board | 512 @12 0% forae

4 % None of the above | SUTHT ®15 @ 751

Question Number : 99 Question Id : 3354726329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich tool is used to join sormne cells and place the content at the middle of %i}led cell i1 MS Excel 20077 |
TAE Ude 2007 |, TF G0l B 1S 31 heve B F21 55 O o 7§ CF 3 Tl T T T JUiT fopa ST 37

Options:

1. #® Right Click on Center icon on alignment tab | UATEAHE 3 & Hat SEFH 0 1158 [dald

2. % Right Click on Merge and Center icon on alignment tab | TATEAHE 2 & Fel Ud H¥ ISR 0T 1158 et
3. # Click on Center icon on aligrment tab | TAEAHE oo & Het ME@ 1 0T [dold

4. ¥ Click on Merge and Center icon on alignment tab | UATE-HE od & A= Ud G2t MTEH - 0T [Fod

Question Number : 100 Question Id : 3354726330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich shortcut key is used to paste the copied or cut portion from a document into another docurment in MS-

Word 20077 | TAUE @2 2007 ¥, UF Siggie & HAT A7 e 19 T 917 & ST Siaghe § uee #7- & Ty HaaeEs g &
W i 2t it g g 27

Options:

1. % CTEL +C

2 ¥ CTEL + ¥V

3. ® CTREL + X

4 ® CTRL + I
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